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Exp. 1GI=% = ether G Z, or G 7 xZ, .
- V%e(—} yo@l4 = ogp=1 or 20r 4

I# HeeG, or=4 = G is cxyelic — GZ,
Brk, VaeG, g'=e = G i obelim.

Bé?e,a‘i = G= 32,q, L)O‘k&

e o b ab

= Z x4 ——b

~ ele « b b 2B TR p
ala e ab b (C~1,,03),) —»oa b
b b Qb e G . . L\
ob ob L o e 'S on |somw") (Sm.

E:c_t. . Elements of the At dihedval group "Dn.
« The set of rtations  is o normal Su'oamu‘?.

. The table of hmljn“;lccmhbn.

&\w‘rltm Su{\)?ose, oS G S(éMme:‘ma crﬁ a rtau'ar‘ n—gon.
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S0 0°CA) is o Vertex . He.nce_,?or‘Some <,
b ‘oA = A,

where |y is the 2 robackiom about the origin
E'or i o Symebry ond sends A b Ay
ether b0 (B)=8 o0 Lo (m)=C.
— edher $bTom=A
IU%J(@:

Exp- Fied Z (D))
§‘>_. \Gri=2? = either Go Zz? o G—&z‘D\).
Solabtom. By Canchy's theorem,

Eloc,peG-, Ol)=2= omd o(p) =P-
= 2 g<p> = T=<p> U «Lp>

and <> < G-

- oqa,(': Pi
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— ($__=§51 = 'L'L"—_-’ 1 (red ?3

P P
= 1=1 o 1=-1.

R b
X e =F
4

)
0 (T,F)= 2p ‘:: ﬁ";
G:/ (s o\dd,‘c QX‘\:QN:[S 'LU on
\I(/ 1So hisen.
C-o ZP—F CLo:::\‘?g o\‘l’ the “7\“‘)

E__u‘g_. Z(38) = 3e§, n>3.
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